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, INSTRUCTIONS
Answer all questions.
All questions carry eqial marls.
Only one answer is to be given for each question.

be treated as wrong answer.

Each question has four alternative responses
marked serially as 1, 2, 3, 4. You have to darken
only ene circle or bubble indicating the correct

h ke

answer on the Answer Sheet using BLUE BALL

POINT PEN.

6. 1/3 part of the mark(s) of each question will
be deducted for each wrong answer. (A wrong
answer means an incorrect answer or more than
one answers for any gquestion. Leaving afl the
relevant circles or bubbles of any questien blank
will not be considered as wrong answer.)

7. The candidate should ensure that Seres Code of
the Question Paper Booklet and Answer Sheet
must be same after opening the envelopes. In
case they are different, a candidate ‘must obtain
another Question Paper of the same series,
Candidate himself shall be responsible for
ensuring this.

8. Mobile Phone or any other electronic gadget in
the examinalion hall is strictly prohibited. A
candidate found with any of such objectionable
material with hlm»’hcr will be strictly dealt as per
rules.

9. Please correctly ﬁil your Roll Number in OMR.
Sheet. 5 marks will be deducted for filling wrong
or incomplete Roll Number.

Warning : If a candidate is found copying or if
any unauthorised material is found in
his/her possession, FIR. would be
lodged against him/her in the Police
Station and hefshe would liable to be
prosecuted under Section 3 of the
R.BE, {Prevention of Unfaitmeans)
Act, 1992, Commission may also
debar him/her permanently from all
future examinations of the
Commission.
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If more than one answers are marked, it would
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1  Who propounded“fhe theory of "Natural selection™ 7+« =
(1) Erasmus Darwin (1731 to 1802)
- (@) Lamark (1744 to 1829)
(3) Charls Darwin (1809 to 1882)
{4) De Vries (1848 to 1935)

‘O FER” W A e wga fem ?
(1) Y-S (1731 ¥ 1802)

(2) &k (1744 ¥ 1829)

(3) =l =fdA (1809 & 1882)

@ & dr (1848 ¥ 1935)

2 "Cart wheel" structure-is exhibited by -

(1) Ribosome - (2) Lysosome
(3) Centriole "(4) Nucleolous
.‘-”zmé?é’ra”wmasﬁa"r%— |
T ma’m‘rq (2 dEmEEm
3 "Mitochondrial clouds" are found in -
(1) Sperm (2) Ovum
(3) Amoeba ' 4 All
‘TSR % aE’ U W €, ¥ - |
(1) &1 ' (2) @vs1g
(3) e | | @ @l
4 The site of fertilization in woman is -
(1) Ovary (@) Cervix
(3) Fallopian tube (@) TUterus
o ¥ Foem W @ ¥ -
(1) eved (2) iRl ga
. Q) el AR @ Ty
5  Choose the odd one - '
(1) Micropyle (2) Nucellus
(3) Embryo sac (4) Pollen grain -
AT B WA BE —
(1) wEsluEw : @) Temossa
(3) yqumbiw | (4) W Fm
6  Structure made up of sphingolipid is -
(1) Myelin sheath {2) |Nissl's body
(3) Neurolemma ' (4) Dendrone
fiifalem & ffifg % ~
() wRRE s @) fProw am
@) g @) 3N
04 A] 2 [Contd...




7 The cells secreting histamine -
(1) Adipocytes (2) Mast cells
(3) Fibrocytes (4) Phagocytes
el & @ s@ amr Hifded |
(1) ufiEEes (2 TR IR
(¢) wESEEE - (4) HirEE
8  The edible part of mango is -
(1) Fleshy - thalamus (2) Fleshy mesocarp
(3) Seed and endosperm. - (4) Cotyledons _
o B G GRT W % - - j.'
() W TR () ER 9 wabts
(3) o gwm oW @ s
9 The sedimentation coefficient of ritbosomes found in badterié is - _ ‘
@ s @ 558 | . - E
(3) 8 S : 4 60S - D
aﬁﬁmﬁqﬁaﬁm@rmmmﬂwam%— ;
My 708 o : (2. 558 : S o
@ s - @ 6s S s
10 What for pappus is found in compositeae ?
(1) Entomophily ' (2) Hydrophlly
(3) Air dispersal . (4) Anemophily
FARA ¥ Gug oy Rig uEr S ¥ 7 -
(1) @ 9T : (2) W@ P
(3) arg wafs . (4 =Y T

11  Haversian system is a salient feature of -
(1} bones of chordates _
(2) bones of aves and mammals
(3) bones of only mammals
(4) cartilages of mammals
rodirm o fadwar ¥ -
(1) ysalml = i &
@) TE T wRRE @ eRert # | o
(3) tam whEl B siaEl @ - | i
(4) wiFEl o sufad B | |

12 The site in ovule where funicle is attached -

(1) Nucellus | (2) - Chalaza _;

(3) Raphe 4) Hilum _ :
qevs @ WH ﬁw@r Vs g oA § — ;

(1) dwEsEm @ P -
BNE) s A - @ -fthE g
04 A] _ 3 _ [Contd... :
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Which:is. calledrasstriple vdecine i awins adei nmion, - - o
(1) BCG wmapneds o (2) DPT wnuno
(3) TAB (4) All the above
raet fome e wey ¥ P |
(1) BCG | (2) DPT
(3) TAB (4) SOUE g
14 Sertoli cells are found in -
(1) Ovary _ (2) Testis
(3) Kidney _ (4) Liver
T wfed O ey, ¥ -
(1) omwEE | @2) g
() Y (4) uza
15  DOTS ppogrannne__éoncerns with - -
~ (1) Green house effect ' (2) . Protection of Ozon = .
" (3) Eradication of TB - (4) Treatment of AIDS -
DOTS Wum &1 g&y- ¥ — S
() @ T a9 2) oSl W
(3) & 47 I@T ¥ (4) ADDS % JwER ¥
16 The tidal volume in human beings is - _ I
(1) 150 ml (2 500 ml
(3) 4500 ml - (4 1500 ml
basa S B |l R o
(1) 150 mi ) 500 ml
(3) 4500 ml @) 1500 ml
17 The embryosac of pinus is - .
(1) Haploid . (2) Diploid
(3) Polyploid- _ - (4) Triploid.
579 B U BT ¥ - R
(1) e | | - (@ forfm
() wItw @ PBafm
18 In human beings sex of the offspring is determined by -
(1) Size of ovum {2) Size of sperm
(3) Sex chromosome of mother (4) Sex chromosome of father
gl § wefy @ R fedor e s ¥, @
(1) 3% &1 ARBT (2) FE H ABR
(3) =W w R e @ @ = v s
04_A] | 4
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19 When pollen tube enters throu.gh ihe mtégumentziit-is:icalled .-

(1) Porogamy it o (2) Mesogamy D .,
(3) Chalazogamy - (4) Pseudogamy :
S WG SRR ¥ T w3 w E, A weamr ¥ -
(1) Wk () e

() frml W@ (@) wgeid

20 The correct statement for fertilizin is -
(1) a fat which is found on the surfice of sperm,
(2} a glycoprotein which is found on. sperm.
3) a glycoprotein which is found on the surface of ovum
(4) ~a fat which is found in the ovum.. -
wRanhe % R o waT ¥ - .
-'.(1)qmama’rmﬁmtrrm&wﬁ%l-
D) U WEHEER S g 9 wRn Wi 310
-',(3)%%133%%?1}@%&%“%%%1
'(4)@3111@&\3{@3?{@6@%! L

21 In which the ovule is not covered by ovary ?

(1) Angiosperm (2) Pterydophyta
(3) Gymnosperm - (4) Bryophyta
o o demE oenm & ww T8 dar ¥ 2

(1) ufemesi @ e
(3) forand (4) . IQEET

22 Salient feature of bile juice is -
(1) It is without enzyme
(2) It has trypsin
(3) It is acidic in nature ' o
(4) It has lipase ' : ' .
W & e ¥ - | -‘
() = g T
(@) % Rfew v s §)
(3) T g WHRy @ o ¥
@) = WIS W W ¥

23 Podocyte cells are found in -

(1) Kidney @) Testis
(3) Ovary (4) Pancreas
wsraEe g T e ¥ ¥ - :
M Trm" : @ g™
(3)  ev=uw | @ F=mE
04_A] . 5 [Contd...
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24 Pneumotaxic centre is found in -
(1) Pons (2) Cerebrum
(3) Hypothalamus {4) Diencephalon
¥z fom o0 %, F - |
(1) WM (2) wERass
G) sEniwE (@) SaEHE
25  Stele includes - : '
(1) Pith and vascular bundle
(2) Pith and endodermis -
(3) Pericycle and endodermis.
(4) Endodermis, pith and pericycle
w N e ¥ - | -
(1) e qan §aeT g | 3
() wou q .
@) ufeew @ weEefE o
@) wersh, W g W
26 The placenta found in cow and goat is -
(1) Cotyledonary placenta (2) Zonary placenta.
(3) Yolk sac placenta (4) None-
g qa SEd ¥ T WA A el ¥ - -
() [ YT (2) WAl A
() e ¥% S (4 @5 T
27 Which is called as "Reptile-like mammal" ?
(1) Scaly ant eater (2) Giant ant eater
(3) Spiny ant eater (4) Al the above
() e dEER (@) "EmEE ddEr
() wiam HEER | @ v
28 The pith of the ground tissue is made up of -
(1) Sclerenchyma _ (2) Parenchyma
(3) Collenchyma (4) All the above
WO Had B TS WOT &9 B ¥ -
(1) 3oas @ T -
() WEHT ¥ (4) <wuie @
29 Oxyntic cells secrete - : _
(1) Intestinal juice in ileum (2) Bile juice in duodenum
(3) HCI in stomach (4) Insulin in pancreas
Frelem BN 9@e &R & — o
(1) shem & sRA @ 2 TN A i w W
(3) ™ ¥ HCL @1 - @) wmmE ¥ g B
04 Al 6 [Contd...
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- (3) Endodermis -

SR L SR PPN T B/ PP SO NTRFE N

Which of the foliovmg are antlcoagulants 7T A- I-Iepanﬁ'"’.l':'i Htrudm
C - Histamine, D - Seratonine

(1) Aand C : {2) B and D

(3) Aand B | 4 Cand D 5
Frafefes & & &9 oy wey 2 ? A - @Ra, B - feRe
C - Rwifm, D - QEkE -

) Amsmc 2 BumD

3) AaenB BN caenD

Caspanan strip s found in the cells of -
(1) Pericycle : (2) Pith

T G} Hypodermls
Fefem o femerapy et & wR ¥ ?

O wfew @) W
(3) Fayad T @ 'eﬂaaaﬁ
How much urea is excreted by a healthy person per day ’?
(1) 100 gm @2 120 gm
(3) 40 gm 4 SO-gm
T WY T *srf%iﬁﬁ 5 g @ soet @ ¥ 2
(1) 100 . (@ 120vm
" (3) 40 W _ @ 80 7w
Y - chromosome comes in which group of human chromosomes -
I c . 2) G
@) B | 4 D
T T F e e ¥ Y - o v ¥ 7
(1) C 2 G .
3) B S @® D
Azolla is an example of -

(1} Ptelydophyte ~ (2) Bryophyte
(3) Gymnosperm (4) Angiosperm’

TSIl O ST ¥ -

(1) Hfwme = () IrEEEe @
@) Feded (4) fsrrent @
HIV virus is a - A - Retrovxrus B - RNA virus, C - D_NA virus,
D- HTLV - 3 S

(1) A Band C 2) A Cand D

() A Band D 4 B, Cand D :
HIV 9@ gt § — A - Adamw, B - RNA qmRd, C — DNA 9/,
D - HTLV - 3

(1) A BaumC ' (2) A,CaanD

3) A BawmD 4 B, CdmD




36 Androgen hormone is secreted by -
(1) Follicular cell (2) Leydig's cell
(3) Corpus luteum (4) Sertoli cell
wEee g B grae fear S ¥, =T
(1) gRewr B : @) T HE
(G) ®Ndg T (4) TR IR
37 One of the following is a correct food cham - .
(1) Frog — Spake — Eagle — Grasshopper — Grass
(2) Eagle — Snake — Grasshopper -— Grass — Frog
- (3) Grasshopper — Grass — Snake — Frog — ‘Eagle
(@) . Grass — Grasshopper — Frog — Snake —» Eagle
- ﬁwﬁiﬁaﬂﬁ%_-waﬁwq@w%~
Q) ﬁﬁiﬁﬂaﬁqw'qfi@m;w |
@) wE o frEst o WEE af _ o
38 Vegetative reproduction in cycas is by -
(1) Bulbil (2) Sporophyll
(3) - Nucellus - (4) None
aewd § Hhe W e 5, N -
(1) gefed @) e i
@) dnrg wFE @) W T
39 - The cause of labour pains is -
(1) Vasopressin : (2) Oxytocin
(3) Vasopressin and oxytocin (4) Progesterone and estrogen -
g @St W OB ¥ - .
(1) AEuRE () il -
(3)-E‘m’rﬁfe=ramaﬁﬁm€rﬂlﬁr (@) TR TR
40 Scattered vascular bundles are the salient feature of stem of which of the
following ?
(1) Pteridophytes (2) Monocots
(3) Dicots (4) None
ﬁ@”{gﬁwﬁfﬁmﬁﬁ@ﬁﬁﬁﬁaﬁiaﬁﬁﬁm%?
(1) HEwHEE @) THRAEN
@) Tt @ @
04_A] 8 ' [Contd...
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41 il S A S S B R
(1) Always upright (2) Always inverted
(3) FEither upright or inverted  (4) Sigmoid '
St &1 Rt dam ¥ — -
RO H9m W . (2) W Se
(3) wur fFEr SEl (4) RrEEs
42 'Whlch is called as 3F hormone ? _
: (1) Adrenalin (2)  Prolactin
(3) - Follicular hormones =~ . . (4) Pituitary hormones
_ﬁﬁ&ﬂ?f%mﬁﬂ%%? L |
1) uEEkE : @ unfRs
O P @
43 The cancer. of mammary gland is called as -
. (I) " Carcinomas- : - 2 Sarcomas
- (3) lLeukaemias . (4 Melanoma.
WA AR B SN GEAEl 8 — .
(1) RS (2) S
(3) wgHEE: (4) WP
44 In which stage, the colchicine inhibits mitosis ?
(1) Prophase. (2) Metaphase
(3) Anaphase (4). Telophase
vl orp Rem @ fow ween ¥ GohEm F % ?
1) wi ) T=THA
@) wms @) JA«rea
45  Which secretes calcitonine ? )
(1) C -cells of parathyroid
-2) C - cells of thyroid
.(3) B - cells of pancreas
(4) Adrenal medulla |
@ SRt & gEe B ¥7?
(1)  TuarRiss &t C — @i
() &l & C - e
C () F=mE W B - i
(4) TER g _
04_A] - 9 : - [Contd...
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46 Histone proteins are rich n -
(1) Arginine and Lysin < 200 RPN
(2). Glycine and Aspartic acid
3) Glutamic acid and Aspartic_acid
(4) Methionine and Glutamic acid
R TiE H G
(1) et e AT &l
(2) TERRE q Twifed a0 Eil
(3) g I T wafiEm o @
@) Pt o GATHS S @l
47 - Desmosome is associated with - - _ _
' ) Cell- division. ' () Animal cell adhesion
(3). Plant cell adhesion ) Bacterial adhesion '
) e few oy g AR s ¥
C(3) RS SR e ¥ @ e e
48 DNA segment which participate in crossing over -
(1) Recon (2) Muton
3) Cistron (@) Operon
&, . q.mwaﬁmﬁﬁﬂ@mﬁmﬂﬁm%—
@ @ S @ =
) R | Q)
49 A couple has four girls. What is the probability of fifth child to be a son?
(1) 20 % (2) 50 % ' '
@) 100 % @ 0%
wmﬁ%mﬁ%ﬁ’%iﬁﬁaﬁ%wéﬁaﬁmuﬁmm
0 | -
(1) 20% @ 0% S .
3 100 % (4) -80 % ' '
50 A double strarided DNA has 18% cytosin, the percentage of other bases
will be 7 . ' _ '
1 A- 18%,'1'-32%,6-32%
2) A—32%,T—18%,G—32%
Gy A-32% T-32 %, G - 18 %
(4) A-lS%,T—SZ%,G-T‘a?.% - . '
ww frgie S T u, ¥ 18%%%&@’(@?513{%&13#“"
M A-lS%,T-BZ%,G—BZ% '
2) A—32%,T-18%,G—32%
G) A-32 %, T - 32 %, G-18%
4 A—IS%,'T-32%,G—32%
04 Al o 10 ' {Contd...
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51  Which of the followmg has no DNA ? -
(1) Enucleated egg (2) Mature mammallan RBC
(3) Both (1) and (2) {4) Sperm
Prfufas & & few ¥ DNA & @1 ¥ ?
(1) WSwER ovsw] (2) whow @ RBC %
G) (1) Tt (2) A F (4) gy §
- 52 A couple havmg blood group AB and 0, adopted a son. Lateron they gave
- birth to twins. The blood group of the adopted son is -
A . (2 B ' : .
3y O : ' . (4 None :
-Qﬁmﬁrﬁﬁmﬁwmamo% %wmﬁmM|m
_'-ﬁaﬁ%gamaatmwganifﬁaﬁﬁnﬁas%ﬁwmw%-m
M - - @ B
XoR S @ e
- 53 Statement - A : Cumin and conander are spice yteldmg plants .
Statement - B : In both frults are used. :
(1) Both the statements are wrong
(2) Statement A is correct and statement B is wrong
(3)‘ Statement A is wrong and Statement B is correct
(4) Both the Statements are correect
A S 99 gt AT 3 9 Ry ¥)
FF B : T § W H S9E0T gt ¥
(1) = B9 wa € |
2) S A §H T@ HU9 B T ¢
(3) YT A TG T HUT B T )
@) < FET o T
54 Match and select the correct - |
' _ Placenta Barriers Examples
(1) Epitheliochorial . 6 Rabbit, Rat
(2) Haemoendothelial 3 Dog, Cat
(3) Haemochorial 1 Man Monkey
{(4) Syndesmochoriol 5 Cow, Goat
A &Y O B/ OWE ﬁ -
S B R
(1) uidtEwiEa 6  wwEl, @
(2) EegTEidfEm 3 g, Raeel
(3) IR 1 - Hgw,
@ RewleRdw s ww, wE
04_Aj : 11 : : - [Contd...
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55 The disease ccaused:ibyhthe bse off cliemigal fortilizerse o coo 0t P
(1) Minamata @ Ttai - itai
(3) Sickle cell Anaemia 4) Methanoglobinemia
et @ F S ¥ N A &Tr ¥~
1y B @ T - TR
@) T & TR @) WA
56 The cause of 'Chlorosis' in plants -~ :
) Ex'cess'_bf Mg @ -Exqeés of Mn
(3) Deficiency of Mg @ Deficiency of Mn
qek K ot Qv wmoETE —
M Mg @ e @ Mn @ stftreat
() Mg @ FH @ Mn @R
57 The primary receptor of CO2 in C;.,’_plahts is -
(1) RUBP (2) PGA
3) PEP 4 QAA
C3_1?r%1‘f1?f(i02$rmaﬁ$u1'e°r€lﬁl%—“ |
(1) RUBP : - (2) PGA
(3) PEP ' (4) QAA
58 The RQ of oxalic acid is - _ :
(1) 08 @ 10
(3) 40 | (@) 0.7
st ot @ RQ ¥R ¥ - |
1y o038 @ 10
(3) 40 | 4) 07 .
59 Correct statement for ABA (Abscisic acid) -
A - It is a natural growth inhibing hormone.
B - It is a gaseous hormone of plants.
(1) Only A (2) Only B
(3) Both A and B {4) None
ABA(qﬁmﬁﬁm)%ﬁqu%—
A - wE TF TGRS ghg P A ¥
B - wg G @ ww i S ¥ |
) ¥ A 2) ¥ B
(3) <=t A @ B (4) &E T
04_A] _ 12 [Contd... .
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(1) €Oy, N,O and CF Cly

The area where two ecosystems overlap each other - - -

(1) Niche (2) Ecotype
{3) Ecotone o (4) Edge line
95 @9 wEl & wRiafe) o efemm a@ ¥ -
() e 2) @M
(3) Wi 4) ®WR %@1

The gases associated with green house eﬁ"ect -
(2) . CO, NO and Freon
(3) - Argon, Crypton and Neon 4) 03, 02 and CO

(1) €Oy, N,0 T CF Cly @) .co, NO q'-cr- ﬁsem
(’3) avhmaqa f&raa‘ﬁ _ _'(4) -_03,_oj2_q_'-q-co E

_' Hormone helps in partuntxon is -

- ‘OXytocin, B - ‘LH, C Relaxm D - FSH

- .(1) BadD (@ AadD

(3) AandB .- - (@) ‘Aand C

.ﬂTwﬁmsﬁh%—

A - 3R, B - LH,C dafr, D - FSH,
(1) BwaE D ' (2) AGEiD

@ AgmB - 4) Aaenc

Orgenelles which are found in the mld-plece of the sperm -
(1) Golgi body and lysosome o
(2) Ribosome and ER

(3) Mitochondria and Centriole

(4) Mitochondria and ribosome

aﬁﬁwa‘rm%mmﬁwﬁrwﬁ%—
(1) e »F qa qgEEy

(2) <EEREE @@ ER

3 R qur A

(4) Wi q e

32-cells embryo will be formed by -
(1) 6 cleavage and 31 mitosis

(2) 5 cleavage and 32 mitosis
(3) 4 cleavage and 31 mitosis

(4) 5 cleavage and 31 ‘mitosis

32 g & Pmfw ¥ @y -
(1) 6 fEaT qun 31 wwRE
2) S5 Fmat aw 32 wREm
(3) 4 Feew v 31 @™
(@) 5 Teww @ 31 wHgH

ST -




70 “The embryo with biastopore 1s called -

(1) Morula. - e (2. Blastyla) o o o
(3) Gastrula - (4) Tadpole T
AR g% 40 HEERT § —

() e @) =g

@) g @) eim

71 Which egg bears micropyle ?
(1) = Centrolecithal - Insect
(2) Mesolecithal - Frog
(3) Microlecithal - Echinodennéta
{4) Alecithal - Man :
e od o TEHNEE Rl ST % 7
1) Fuehad - @R -._'_(z) e irc.rm
@) ﬁmﬁiﬁ—w@ﬁa @ o - g

7 Gregareous and crypuscular ammal wluch exhlblts coprophagy -

(1} Man o - (2)" Rabbit :

(3) Rat __ [C)) All the above :
-'qgﬂamawmwﬁa‘rwﬁﬁﬁzsﬁm% -

(1) g= ) wTa

G) & : (4) sSTE Tl

73-  Excretory structure of ascaris is -

(1) H - Shaped (2) O - Shaped:

(3} T - Shaped , (4) S - Shaped

uehElka B IEel O AR E -

(1) H - emgly = @) O - sl @

(3) T - oGhr @ @) S - ompl @

74 The correct statement for contractile vacuole of Amoeba s -
(1) Systole is gradual but diastole is sudden - '
(2) Systole is sudden but diastole is gradual’
(3) Both systole and diastole are sudden
" (4)  Both systole and diastole are gradual

arfrar @ dgede e ¥ B oo wow ¥ -
(1) zod frem dr-oX Afer THEw sEmE Bl ¥
) T W emrw awl SAEW g9 s @)
() i tEd T smEW AW ommw @ ¥
@) T frw o TERW AW A B ¥

04_A] 15
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Dettachement of gravid. proglottids in, tapeworm is. called as -

(1) * Segmentation (2) Autolysis

(3) Apolysis (4) Apogenesis

Wil $ A I dheifew @ o BT FEART § -

(1) w=rweEw (@ FaERE

(3) wEi (@) uoENRg

The total number of longitudinal muscle cells in the. body wall of Ascan's_"

is - o

) 150 @) 300
@ 600 @ 1200 o
TR B B o e wet @ g ven ad ¥
() 150 N 2y 300 o
(). 600 @ 1200
" Cantheridine is. obtained. from. - P
(1) - Cochineal bug = - R ) Red ants ~
(3). Blister beetle . - (®. Tacchardia -
Sl wre e W ¥ -
() =EifEad = § @ W A9 §
@) «ex dew ¥ @ W3
Which pair is not correct ?

78

79

(1)  Apiculture - Honey bee
(2) Sericulture - Silk moth
(3) Pisciculture - Pearl oyster
(4) Vemniculture - Earthworm

AW TN R T Y ?

(1) thEwR - aymaelt

@ FerR - WW @ 95
() e - wl efrex . . T
(4) wfEER - Hger SR -

Which of following GM varieties are now -being cultivated widely ?
(1) Wheat and Mango o '

(2) Mustard and Groundnut

(3) Cotton and Soyabean

(4) Pea and Bajara _ - o
Frafofas ¥ ¥ -G STyt surala Reell @ gee wR WX e
SR ¥ ? .

(1) % e
() @@ 9E gred
() U T dade
(4) X qu1 TRy
04_A| | 16 o [Contd...
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80
3) Br@({ KCgs, A(S) G (4 Br Ag{ K.C A5+SG
g Aol B gH W ¥ -
3. -BreaO/ K C(.S)l A(s) G (4 Br% Q{KS Cs Asis G
81 thch of the followmg is correct -
(A) Ky - Four fused Tepals
~ (B) Py - Four fused sepals
©) C @) - Four fused petals _
(1) A, B and C v (@) AandB .
(3) Only C 4y Only B
Frafaiea & & @& § -
(A) Ky - 9K dgw0 dited
\.(B) Pyy - 9X 9T REW
(€) Cyy - R WYD &
(1) ABamC 2 Ada B
(3) wma C @) HaWB
82  Aristotle Lantern is found in - . _
(1) Sea urchin * (2) Sea cucumber
(3) Star fish (4) Sea anemone
- ST BN WERT Rl SR % - o
(1 4 o Q) & = A .
(3) =r fea A @ o i §F
83 'What is common émong earthworim, scolopendra and cockroach ?
(1) Metameric segmentation and Bilateral symmetry . '
(2) Metameric segmentation and chitinous exoskeleton
(3) Bilateral symmetry and chitinous exoskeleton
(4) Haemocoelom and chitinous exoskeleton -
HYY, WMUEl 9 BEUT F Fa gHMA ¢ 7
(1) St Rraves oo faod Tafa
(2) araY® fg@vs o SRR 4/ Hem
() bty a9 el 9w
@) il 9o SRR ST dwR
04_A] 17 [Contd...
¥

The floral formula of family poaceae is -



" 88

84 Water vascular system is a salient feature of -
' A - Porifera, B, Leeches;, -C - Echinodermata;, D ~-Urochordata,
(1) Only A (2) Only C
(3) A and C 4 Band D
W HaeT d fyshwa & -
A - T, B - i, C-Ws‘?ﬁEﬂ?r,D-?{ﬂﬁga
(1) Ha| A (2) ¥« B
B) AgmC (4 BamD
"85 ‘Biradial - animal_ which bears lasso cells - . -
‘A - Beroe, B - Hydra, C - Ctenoplana, D -~ - Sea Anemone _
(I) Aand D - : - (2) AandB ;
3) Aand C o 4 BadD
'%@ﬂﬂmﬁaﬁﬁ@@rﬁmwm%—_ -
A - dE B - T, C - é‘Fﬁw D - & - o
(D Awm D . R (2) AETQTB o
(3)..._ Avmc o ‘(¥ BaarD
86 Buccal dlvertxculum and proboscis gland are found in -
(1) Herdmania _ (2) Amphioxus
(3} Balanoglossus (4) Elephant
I IEACE T IR TRy R Wy ¥ -
(1) * ZSwit@Er _ () uiwdifEg
(3) ST - 4 T
87 Tree placenta is found in -
(1) Al mammals
(2) Mammals except prototheria
(3) . Mammals except metatheria
(4) Only Eutheria
EUSTEC R TC I o
(1) =f whry ¥
2) WA B vlewr v whr 3
() i B Bewt W whEr 3
4) Fa@ gl &
Which stimulates milk secretion from the mammary glands after parturition?
(1) Prolactin (2) FSH :
3) LH - _ (4) Estrogen
f}Tgm%wﬁmmﬁW-@r@waﬁaﬂﬂﬁﬁam%?
(1) wefRs . (2) FSH
() LH . @ T
04_A] 18 ' [Contd...
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"Rate of cleavage o ‘1 / amount of yolk” is a rule - -
(1) Balfour's rule (2) Hertwig's rule

(3) Pfluger's law (4) Sac's rule

“RreaT & | o 1/ daw @& wenr fram ¥ -

(1) IR w1 Frw (@) wfRm w Pam
(3) wE @ frgm @ % wr Frawm
Concern with nomenclature of organisms -

-A - Whittaker, B - Streakland

(1) Only A SR " (2) Only B
(3) BothAand B -~ - . -(4) None
St & e vefr ¥ wtE ¥ - -
A - BRHY, B - Eowws

M) wEwmaA @ ¥wB.

: G) FMammB @ aw @
- | Match and chb’ose the correct - ' E S
| (A) Aves (@) Cartilagenous endoskeleton
(B) Mammals . (b) Three chambered heart
(C) Amphibians {¢) One Ovary
| (D) Elasmobranchi (d) Corpus callosum
(1) A-dB-¢,C-b,D-a '
l 2) A-aB-c,C-bD-d
) A-dB-aC-¢D-b
4 A-¢B-d,C-b,D-a
2 - g w Tw W W owE Wy - o
Ay wt (&) Sulew sia:hsm
‘ (B) wH () BeEsh
(C) Sy . (©) T emEEE .
(D) - semrersrams @ wdE e
(1) A-dB-¢ C-bD-a : S
2) A-a,B-¢, C-bD-d
() A-dB-a3C-¢D-b
4 A-¢B-d,C-bD-a
92 Retrogressive metamorphosis is found in -
(1) Amphibia (2) Urochordata
(3) Arthropoda (4) Hemichordata B
TRET BRI TEr W ¥ -
) SygEd . - 2y ghaERa
() vEigRr 4 IR
04_A] 19 [Contd...
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93  Correct for 'Amoeba_ R BEVOID Gunie® upesd o o1 4
A - Zootrophi¢, B - Lentic - .
C - Acellular, D - Kingdom monera

(1) A B, Cand D. 2 B,Cand D
(3) A B, and C 4) A Cand D
T H ﬁﬂq wE o -
A - Sgf%®, B - dfes
~ C - u@ifieE, D - se-An -
(1) A B, CamD S (2) BcaenD
: (3) ‘A, B, EIEIT-C o (4) .A, CH?-JTD-
94 The relatlonshlp between shark and pilot fish (Naucrates) is -
(1) - Commensalism =« (2) Symbiosis ) :
(3 Mutualism ~ {4)  Parasitism.
U qu IEee Hwel (ﬂﬁq) ¥ Ay W gy
) wewRm () geifmEr
L B) Wt @ iR
95  The cause of minamata disease is -
(1) Deficiency of Hg (2) Excess of Hg
(3) Deficiency of Cd (4) Excess of Cd
W & R - - {
(1) Hg & =W (2)  Hg @t sy
3) _Cd ot B 4) Cd & wlimedr
96 The percentage of stomatal transpiration is -
1 10% - {(2) 50%
(3) 80-90 % - @ 100 %
dre ¥ Wi et @ whoe ¥ -
1 10% 2) 50 % S -
3) 80-90 % - 4 100 % B
97  Water potential and osmotic potential of pure water is -
(1) 100 and 100 . (2) Zero and Zero
(3) Zero and 100 (4) 100 and Zero
P& &6 & & frwa o W R o ommer
(1) 100 @1 100 @) U= T
(3) =@ qur 100 _ (4) 100 @& =
98 The edible part of the coconut - :
(1) Mesocarp : _ (2) Epicarp _
(3) Endocarp (4) Seed and Endosperm
N @ o'N q w - -
(1) wer watkfy ) == watily
(3) Tl (4) 99 qu Yo
04_A] o 20 [Contd...




99 The polar body formed during oogenesis iS = -; gdor .. ~ei g0
(1) Haploid (2) Diploid
(3) Polyploid (4) Without chromosomes
suseT ¥ PR 9T B - |
(1) omfm ) fagftm
() g @) o
100 The division in cleavage is - | _
(1) Meiosis (2) Mitosis without growth phase
(3) Mitosis with growth phase  (4) Amitosis
g & B awn Reoaem ¥ -
1 s (2_)3,[&5mmm11%?ramph
() qhe wrRn giEw mq??r @) o
101 The unit of compound eye of cockroach is -
- (1) Nephridia =~ 2) Ommatldl_um_ :
'(3) Phallomere - (4) Plantula
.wﬁoﬁaagfﬁﬁaa%wré%— R
) gwes (2) iy
3) Fentax @) wiEar
102 Hexacanth is a larval stage of -
(1) Ascaris (2) .Tape worm
(3) Liver fluke (4) Star fish
G W] orEen ¥ -
(1) wesh| & @) waGR w
(3)&-161%@3?{_ @) dIREE &Y
103 Choose the correct statement -
(1) Maximum ascent of sap occurrs during day
(2) Phloem performs water transportation
(3) Water absorption by roots from physiological dry soﬂ is more _
(4) None of the above . .
TE FHAN B TIT B
(1) orfyewaw w@Risw & & - g &)
(2) & Y987 wIQH R SR 2 -
(3) mﬁfﬂmam%as‘rmaﬂaﬁwoﬁmam%l
@ wE @
104 Which is called as chimeric DNA ?
(1) Recombinant DNA 2 Z-DNA =
(3) Satellite DNA (4) Palindromic. DNA -
fhet s DNA @=d %7 | _
(1) g™ DNA (2) Z - DNA
- (3) &gl DNA (4) fr=ifs DNA
04.A] . 21 | [Contd...
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105 Which of the following are pulse plants -

(1) Zea and Triticum (2) Pisum’ and Vgna
(3) Zea and Vigna (4) Pisum and Triticum
Frafafes & o a9 @ ¥ - S
() & am gfmw - (@ "EEE aw Rrewm
- 3) T am'ﬁw | | @) wswd aar g
B 106 Ovaries in - earthworm are found in- - R
(1) 8th gpd oth” segment (2) 14 and 16 ségment
-(3) 13% segment . 4) .IZth.f and"13th segment
_.___aﬂﬁﬁarummﬁa?rﬁ?r%~ | o
BNOR 8 a w1 9 W W @ l4to 16 TR

3) lzm@ug R )] 'lzar a4l 13211@1:3

107 Gutatlon in plants occurs through -
(1) Stomata found on leaves
(2) Hydathodes found on leaves
(3) Hydathodes found on stem surface
(4) Al of-the above

W N frg W dar & -

() w0 < ofdl o o Wl ¥
) ufeEt ¥ swwr s
() a1 @ wwE ¥ FJWEN T
@) 9udw Td F ER

108 Satellite DNA is 2 useful tool in -

(1) Forensic science (2) Organ transplantation
(3) Sex determination (4) Transgenesns '
Al & @ w uw swarh gem ¥ - |

() -emdE fem & (2) & FeREn X

@3y foinr ﬁreﬁrur ¥ (4) ;mﬁﬁﬁq ¥

109 In Which segments of earthworm setae .are absent - .
A - First, B - Last, C - First 13 segments, D- 14, 15 and 16
(1) Aand C 2 Band C
(3) A Band C -4 A Band D
%g&%ﬁwws’fﬂsﬁfmm@m%? |

A - ¥gq, B - aifxm, C - 949 13 ®vs, D- 14, 15, 16

@ Amuic (2) B a9 C
(3) A, B @ C @ A BwaD
04_A] 22
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110 Match the following and choose the wrong - _

(A) Rabbit C st @) o SYHRX GG 5 v g 3
{B) Pigeon (b} Anal cerci
(C) Frog {(¢) Larynx
(D) Cockroach ' (d) Vocal sacs
(1) A-aB-b,C-¢D-4d
(2) A-d, B-¢,C-bD-2a

(3 A-c¢ B-a, C-4d D-b
4 A-aB-c C-bD-d
Frafefas =t gafm & qa T B T wR -

A wwmr () uRftew
(B) Fa ) wg

O ¢ =g
@) wdta = (d) @Y Bg
() A-a B-b, C-g D-d : :
(2) A - d, .B- C, C - b, D - a ’

. (3  A-¢-B-a, C-d,D-b :
NOY A-Ta,B- ¢, C-b D-d ’
1 Wlnch of the following has been named as national aquatic animal of India ?

(1) Whale . (2) Dugong '
(3) Ganges river Dolphin (4) Crocodile
ﬁﬂ%ﬁﬁémwmmaﬁﬁammﬁmw%?
1y == - @) =gwT
() T W @ ST (@) =TT
112 Electrons used in electron microscope are of wavelength -
(1) 0.05 A° (2) 0.15 A°
(3) 0.25 A° (@ 035A°
T gl ¥ ouge shagrE @ adr 3 ud 37
(1) 0.05 A° - (2) 0.15 Ae . : -
(3) 025 A° : (4) 035 A°
113 Choose the incorrect pair -
(1) Rhinoceros - Kaziranga NP (Asam)
(2) Elephant .= Periyar NP (Kerala)
(3) Lion . - Sariska NP (Rajasthan)
(4) Musk Deer - - Kedarnath NP (Uttrakhand)
T WS H T BE - o
O F= - WNCT T SUM (smar)
(2) Tl : - fer wE sam )
(3) v | - WEwt W SaN [RREE)
@) wgl - W U M (STirEve)
04_A] 23 [Contd...
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114 Where and when the Seshaohalam biosphere was established ‘?

(1) Andhra Pradesh : 2010 (2) Himachal Pradesh ; 2009
(3) Rajasthan ; 2011 (4) Nilgiri ; 1986
@rsnﬂaqﬁﬁamﬁmmwamawgtﬁ? o
(1) o9 wasr ; 2010 ) fmam 2w ; 2000
(3) TERAN ; 201) . (@) @R ; 1986
15 When the "project tiger" was started in India ? '
(1) August 15, 1950 (2)  September 20, 2010
-~ (3) - April 1, 1973 S (4) January 26, 1986 -
L WRa N “Wie T W :g;ﬁana & gl
() s 18, 1950 L@ - fmmr 20, 2010
(3) eﬂﬂ;ﬁ 1, 1973 (4) S 26, 1986
116 - The techmque of separating’ dlﬂ‘erenet collondal matena]s from their mlxture— '
(1)  Electrophorosis -2 TEM :
- (3) SEM @ Spectrophotometry . '
. vﬁﬁﬂ%@nﬁlﬁﬁ%@ﬁﬂﬁﬂﬁﬁ%ﬁ%%%%%%
) R g @ TEM. - '
() SEM @) SRR

117 Correct statement for TEM -
(A) Electrons are used in place of hght
(B) Electromagnetic lenses are used in place of glass lenses
(C) Object can be viewed directly by eyes :
(1) Aand C (2) B and C
(3) Aand B . 4) A Band C
TEM % foq @& syq ¥ —
(A) mmﬂ%WWSﬁWWWMW%I
ﬁﬁwﬁ%mﬁwﬁgﬁ?ﬁaﬁqﬁmw%mmh
(C)safrmga?r@r@reﬂ@‘r ¥ @ W ¥ B

() Asm C (2) BaarC : :

() AwmB | 4 A BwmC

118 Correct for "Golden rice"
(A) Rice with B - carotene
(B) Yellow in colour .
(€) It is a GM rice _
(1) Only A (2) Only B and C
(3) Only A and C. . 4 A Band C
‘M TR % R owd ¥ -
(A) B - &9 7% aEw
B) 3@H I tﬁEn ¥
(© & % GM 9|9 ¥ ' ;
1) %Ed A (2) %ad B gu1 C

(3) HEw AaW C . (4 A BgacC.
04 _A] 24 {Contd...
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120

One of the following is’ a diagnostic techinique

(1) TEM and SEM (2) ELISA
(3) Both (1) and (2) (4) None
Preaffae & s Pem it ¥ -

(1) TEM @em SEM (2) ELISA
@) (1) T () AW @) g
What is zymogen ?

(1} An active enzymé

(2) Inactive precursor of proteolytic enzyme -

. (3) Precursor of oxidative enzyme

(4) An inactive enzyme
AN ®O ek § 7
(1) s ®Wiwa CSEd

:-(2) ﬁﬁtﬂaﬁ&awmﬁﬁmﬂqﬁw'

121

(3) SRR TR & Y SeR
'(4)@%%5&1@131{ :

'Wl'uch -one of the follong is most suitable to depié’t the nature of

educational psychology ?
(A) Positive Science

(C) Behavioural Science
Select the correct answer using the code given above :

(B) Normative Science

(1) (A) and (B) (2) (B) and (C)

122

(3) (A) and (C) - (@ Only (©). |
ﬁﬁmﬁﬁﬁ—mﬁmnﬁﬁaﬁﬁu@%aﬁmmm
% yefifs @ §0

A) o e ®) P fasm

€) =wrE fEm :

STYH BS W YA HIQ FL G A BiEY —

) AT ®E) @ ®WE©O
(3) @A) W@ (© (4) @ © -
Which one of the following implication of educational psychology is not

helpful for a teacher ?
(1) To understand developmental characterlstlcs of learner.

{2) * To identify individual differences

(3) To know group dynamics of class _

(4) To increase optitude of the learner. '

tretafas ¥ e e weitesm & Mead @ srame ¥ fag e
oy P

(1) otrreat & R fwas & awem

(2) =fFs ot & warm ¥

(3) @@ B g Madwar @ qE H

(4 oftrm @ ofwemar sgm d

04 A] | 25 | [Contd...
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e i el P o . - E . .
worirEn Frln mfid Sincabyg B '-""'.fi‘.f—'r...?-'.:!('_.'é:' St B LT

f—

The main focus point of educational psychology is : |
(1)  The teacher as an instructor

. {2) The learner as an individual

(3) A method of teaching as a strategy

(4) The situation as an environment

ﬁrmﬂﬁ%wmg@ﬁﬁg@m%
(1) m@mﬁm%mﬁ

(2) aiﬁnmaqumwﬁammﬁ

- (), mm%ww%mﬁ

124

125

_(4_)_ v&f%qf%r T R %ﬁ m.ﬁ

In using aud10-v1sual alds in classroom sxtuanon wh1ch.one--of‘ the following
maxim-.of teaching is included. ?- o PR :

(1) - Concrete. to abstract

(2) Simple to complex’

(3) Learning by doing .

. (4)  Analysis to synthesis

BT - HY MRy ¥ g2 qummﬁﬁﬁwﬁww
Wﬁﬂ%ﬁﬂﬁﬁ?&mﬂﬁﬂﬁqﬁﬁm%? =

KON I -

() W & afw
3) & daT
@) e § deehe

Which one of the following model of teaching focuses on the comprehension
of facts and concepts ? . :

(1) Advance Organizer (2) Scientific Enquiry

(3) Information Processing (4} Cooperative Learning -

ﬁmﬁf@aﬁ@rﬁa—@rﬁmm(&muﬁqﬁ)m@wwﬂ@w
D SFENY (A W E?

() ofm drew (@) St t@afa-_
(3) g uipar (@) wearh e

126 Which one of the following factor is not concerned with effective classroom
communication ? - ,
(1) Appropriate gestures _ 2) Content clarify
(3) Rbetorical language (4) Two way process
Wﬁﬁ%ﬁ—mmuwmmﬁamﬁwﬂwa@r%?
(1) Sugw sE¥E (2) favdag wsm
() EHIE Wy | (4) Tomit gfear
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127 Which one of the following statement indicate the correct nature of the

learning 7

(1) Learning is a process

(2) Learning is a product

(3) Learning is sometime product and .sometime process
(4) Learning is both process and product

'ﬁﬂﬁﬁﬁaaﬁ%ﬁﬁ—mmwaﬁwmﬁmﬁaﬁm%ﬁﬁﬁmm% 2
(1) ofrm ww wiem 3

2) oftrm w wOr 3

() ofrm w0 sar eﬂtwﬁrmé‘r&r%i

@ aqﬁmnmqawaﬁ%l .

128 Which one of the follovmng factor is’ dlrectly correlated w1th leamers
aspiration level ? _

(1)  Aptitude - .- (@) Attitude _

-~ (3) Intrinsic motivation - {4 Interest -~ . P
.--ﬁa%f@aﬁﬁaﬁﬂ»mmmﬂrmaﬁmmmﬁmamﬁ |
At dwE 7 |
() eiwEw (2) aaﬁqqﬁr

@) orie afgm 4

129 Which one of the following prmcxple does not assist in transfer of learning?
(1)° Mental discipline (2) Accuracy of: facts
(3) [Identical elements (4) Meaningful * generalization
ﬁmﬁiﬁgaﬁﬁaﬁ?mﬁammﬁzwwﬁmﬂé’r@m%?
(1) wHfes elgam () @ B RgE|
() wwET T (4) orefgef Hﬂmﬁm

130 Which one of the follomng technique is not helpﬁll to control the emotions
of an individual ?

(1) Repression - (2) Displacement

(3) Regression: . - {4) Insulation
ﬁﬂﬁlﬁgﬁﬁ%@v—xﬁaﬁmaﬁﬁr%aﬁﬁﬁaﬁﬂamﬁﬁm
Wy 7 . |
(1 T - @) wRrem

@) wheew . @ g

131 The physical development of an adolescent is evaluated by :
(1) Height and weight of the body of the individual.
(2) Length of arms and feet of the individual
(3) Physical functions performed by the individual
(4) ‘Breadth of the shoulders of the individual

o BeiR % giifs R w qie e o E -

(D). 8% o N Fu¥ @ R F E

() IuF e ot T H W= ¥ Ta

(3) m%mﬁs&n&snﬁﬁmwﬁ%m

@) wus G0 @ ded ¥ mw |
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132 The chatactetific -of cgtiitivedevélbpmant T atbléscent stage st

(1) Increasing ability to solve problems with logic
(2) Increasing ability to social awareness '
(3). Increasing speed of works

4 Increasing intimate friendship

ﬁssﬁvmmﬁﬁwwaﬁma%ﬁs‘rw%:
(1) ﬁ%mamﬁ%mﬁﬁwﬁqﬁg
@) TG STt W A A gty

6) wE @ ¥ ofy

f_ﬁ)u%z%mﬁ§%  

133

134

) ‘Lack of motivation (@ Lack of _coeopefaft_i‘dn B
- (3) -Lack of interest (@) Lack of adjustment -
ﬁssi’lm;n ¥ R R o R Y A e
T : '
(1) efion @ - ) wEER @ ol
(3 ol @ w9 (@) wESE B
The exainple of software approach is - _ :
(1) Projector (2) Computer and Keyboard
(3) Instruction (4)  Printing machine
R el (@iRd) Saee @ s L o
1) waww | (2)  FPET (FT18) T Bl -~ v
(3) o @ e (o) mstm

135

One of the pfonajnent problem due to the dével_opmetital_ chang'e_s_ 'dun'_ng} .
- adolescent period is - IR :

Which one of the following is the correct sequence of steps of System
Approach ? ;

(A) Identifying objectives - (B) Improving leaming experiences
(C) Evaluating objectives . (D) Designing leamning experiences
1) A-C—-DB ) A-D-C_B
() A-BosCcoD @ A5DsBoC

ﬁwﬁf@aﬁ#mﬁw%qﬁwaﬁmﬁﬂ—m% ?
(A) R @ wegE B) afirrg ST Bl G
© WA w1 gt w (D) AR ergeEt @ wevar s

1) A-C>DB 2 A-DocoB
BG) AsBSCoD @) A-D-oBoC
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136 The main, limitation .of, 'Computer Assisted. Learping' is ;.
(1) Language competency  °  (2) Problem solving
(3) Drill (4) Individual pacing
T WewE A ger g ¥
(1) W e 2) T wEEE
) oy ' (4) <=tEes wfy
137 ‘Computer Aided Instruction' was started in which one of the following
decade : . : _ g
(1) In 1980 = - - (2) 'In 1960
. (B) In 1940% - @ mioes
| T GAE TR A frafofaa & ¥ Row qom & e g o ?
(1) 1980 ¥ TIw C(2) 1960 ¥ Ty N
B 1940% T F 4) 1990 % z9F 4§
A student, who rebuked by his / her teacher in the classroom, rebuked
" his / her younger brother when he / she return ‘home. This example ‘is
related to which one of the following defence mechanism ?
(1) - Projection = = (2) - - Reaction formation
(3) Displacement (4)  Sublimation
@mwﬁwﬁmﬁaw@rsﬁgﬁmmamm%@%mﬁ
ﬁm%:wmﬁﬁﬁf@aﬁ%mww (i) & weafag
3 _ _
() g (2) wishra Rl
@G) wkmemw - @) il
139 The factor which influences on the interest of an adolescent is :
(1) Hereditory (2) Environment
(3) Sometimes:he_reditory and (49)  Both hereditory and environment
" sometimes environment o o
.%%aﬁ?a%aﬁwﬁra%wﬁaaﬂ%a‘mm%:. -
(1) ongaifyes _ @ =ETE .
@) B ergaifet, >N A @) IS T A B
146 Which one of the following characteristic is not related with the creativity
of learner ? :
(1) Fluency (2)  Originality
- (3) High achievenient gy Flexibility B
ﬁwﬁﬁﬁﬁ@rmﬁ—mwaﬁﬁmﬁmﬁmaﬁ%?
(1) el - 2)  femar .
() = Symly “) wdwm
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141 'The strategies which are most appropriate to meet the needs of a gifted
learner is : : '
(A) Acceleration
(B) Enrichment
(C) Special grouping -
(1) (A)and B) 2) (A) and (C)

(3} (B) and (C) | @) (A), Byand )
'msmmmﬁmsmﬁ_ﬂw%mm_m -
@ S g
B) "
(O e wpw I
O wEe @ wWweo
@ ®mwEo @) (A, ®B) @ ()

© 142, The pattern of development of any individual is followed in which of the

-, following manner ? o . e _
- (1) Digital proximo. -~ = . (2) Cephalo caudal

(3) Unilateral 4) Specific to general
%&mﬁaﬁﬁmmmﬁﬁﬁ%ﬁaﬁ%mmmm
HET E 7 S :

(1) W d fex @) I ()

() uwsdg | @ fafire & wora

143 Which one of the following is not a constructivist principle of learning?
(1) Learning is:.contextual (2 Leaming is instantaneous
(3) Learning is a social activity (4) Learning is an active process
ﬁmﬁrﬁaaﬁ%ﬂ?ﬂmﬁnm%ﬁﬁamm%mﬂﬁ% ?
(1) oftrm wafig & @AY Tl ¥
@) et gl B ¥ @) fem o wter fewm b

144 Which one of the following factor is a barrier to verbal classroom
communication ?° : ' ' _
(1) Audibility of speech - . (2) Attentiveness of students
(3) Unfamiliar prononciation - (4) Immediate feedback

 Felfes ¥ B-m e we-mn 5 D T F qren s ¥

(1) = geEmr - 2) oEl S gadar
BG) = @ a0 @) TeRw TSoqe
145 The exponent of the model of ‘Scientific Inquiry' is :
(1) Joseph J. Schwab (2) Jerom S. Bruner
(3) Richard Suchman (4) Hilda Taba
‘%aﬁmw(v&m)’q‘fw(mmq)%mw%:
(1) 5% 9. =9 (@ W TR
(3) T=d maiw @ Rer oA
04_A] | | 30 . [Contd...




146

147

- 148
N 05 Hypothemze - (2) - Abstract thinking

149

150

Which one of the following is not a behaviourist psychologist ?
(1) Jerome S. Bruner (2) Ivan Patrovich Pavlov
(3) E. L. Thorndike (4) B. F. Skinner
Frafafas & @ H9 JuerErl Tasm 98 & 7

(1) W\ T g (2) waF Uiy dEwE
(3) % UA. OFSh® (4 4. T Rart

Which one of the following main acnwty is the characterlstlc of cogmtlve

principle of learning ?
{1) Recalling and learning 2) Thmkmg _-and Iearnmg
(3) . Taking and learning (4) Conditioning and learning

frefefag ¥ & FA- e Bem s % devners Rega o P
() gm s ok aftrm (2) Reaw el afem
G) maﬂmeﬁ'{e{&rm @ alwﬂaﬁ'(aﬁhrm

The funetion which is not retated W1th the cogmtlon of adolescent leamer ?

(3) Imagination (4) Classification

ik et & deN ¥ o ol wefum A % 7

(1) aR@werm B @) orgd fa we
(3) G B (4) BT B

Which one of the following is a correct statement about the constructivism?
(1) XKnowledge is given by the experts.

(2) Knowledge is constructed in the learner.

(3) Knowledge transmitted through different skills.

(4) Knowledge is taken by the learner from books.

ﬁﬂﬁr{ﬁﬁﬁ@raﬂﬂ—mwf*ﬂﬁaﬂa%wf{w% ?
(1) = fagwsy @ f@En s 3

(2) orTREal & e T ol P g ¥

@) s B W F g wEraia fer s
@ v sired T gEe ¥ fwar s ¥

Which one of the following is not an appropriate way to maintain students’
mental health ?

(1) .To emphasize on harmonious relationship

(2) To emphasize on healthy environment

(3) To emphasize on competitions

(4) To emphasize on self acceptance

ﬁﬁmﬁﬁﬁ—mmm%qﬁﬁmw@@gﬁﬁ%?
(1) oE @l 9T | am

(2) W WE T g9 &

@) wiwifrmst o s A

@ I @ Qg Waw W
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